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Recoll

Y x inS €x)
M eans aPl x in S have proch'ls e .
3 X inS P(K)

Mmeans 'H\Qn is X in S that hes ?ronr+3 e .

A% 1nS £x)

mMmeans ‘H\g,q is o\wiquex in S that  hes profo.r‘fs e .

Neaation cules :
1 VxeA3geB PN =>[qlyhvIzec X £2)
Mmea.ns

AxeA Vgep PO) A Jawa(Vzec x>z)
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Nested que n‘\ljler.s

—

VYmez2zt* 3n e2? mcec n is | rwe

L/

N c¢an de ?Qﬂe\ on m

Pfoog.‘ Qiven M in 27 +qkz\n/-:;:r_l/’ the, Mmen

N dqeeaés on /M
1-€ Q\£r3 M IS

allo urd 4o haw
(¥s own nN

Ane2t Ymel? men s FaPse

n cannot de pRad ©n  m

ProoS - “dhe no.jq‘\‘ion cé’ this s tate ment s

Vnezt 3meg 2™ mxn :

S\'\lqn nin &° , Take m=n the, m™m 2 n,

Note : Cl«Qan'nS +he order 05 difYe readt
G‘uqn‘}‘-ﬁ:qr_s ¥3 40 3 ¥ Of ViR Ve MO

statement, so 1F is pOT  ©OK

2023-04-13 13:52:26 3/8 Lesson12 (3/8)




Ane 2 Yme2' mz2n (s Frue
YSQQS: T eKe n=-4 +lﬁ.n 'Sl‘u-zn /m e£+ Mm =4
\/Y'\_)

N does aot A{PQ[\A on M,
An € ¢t YVmezZt m>n ts  Felde

P{OOS: 'H.z hQSQ‘}\'on og the $+Q+QMQ/I+ (s
vne2t 3meld menpn o prow this
we argue fvea nin Z* deKe m=n

tlen M < n (s trwe
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DQS: -\ 5unc»{-fon j‘ A-7 2 'S
dejined by  giving

l) The domain A , @ non thf-b x ¥

7-) The o do Amain B/ Q non eme xtmovi-, preiomage
3) A cule that “o Quzrs ePeameat xedA B3

Qsjyociates an q?emen‘i‘ Bré(x) c3
ovteot

i ma X
FO(MQ.?{‘S a rufe 13 @ set R: mege J

« R ¢ Axp
. VXGA ai zéR 'HIQ :}\'rs Q?QMQ:\"‘OS?".SX

Note ﬂ ¢ —7 & and S R—7R
j(x): )(L S(,x):: x&

are ij%iftn’\' Junctions, o.?'}hogg—vb -HnaJ
haww the Same ruQ(
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Dqg t The image or (anie 05 @ 4unctio,
5’ A—>9 's the aset ocf o0 oud'?u,'\'.s
og 5 , +hat s Hhe :}o?(’o ukng Subwt of &3

Sna(5) : % §eB ) Ixeh 5=3L(x)j

§(A)

f )

Ex :S K— > R
Fx) = x <

N (3) = {XGR/ X2 ok

So in This <ese +he 1mage OCS’ j IS
cii%»&qmn‘\ :‘jrom« the 0domain

4 v ‘MQSQ (of fenge)d
1 x 20

Doma.in (72

Codomain R
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Co(m?o.)\"l'ion Given ﬁ A—B Qad $ B —2C

tlen 305 , The Compobi‘i':'on 05
§ <ad ] rs éz:&-inqé as  Jotb.

D T)IQ do ma.in OS 305‘ s A C the domein
o 5)
2) The @do/mein ~f 305- is C (the

Codo ma in °§ 3)
3) The e s - Vxeh (3°j)(x) = 3(&(’())

This (s 'Hae U.su.a.P de&iv\l\nm {ouL
Know :S‘wma erchQc.-.gQ-«s.

Note 15 5’ A T2A
52' means L of

53 meewns joj- oj—

5.(( Mee,s 5o§ o o:S"“
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This s 4he vsual Ae&im\’m KoU
Know 5~(Q(m QrecQQc.uQus.

ch : Given @ non zm‘oin seC A, The iéen’fg
5—vnc+ion AN A) IJA s éeﬁfneQ Jp,j:

D Doma in s A

2) domain s A

3) Qute V¥xeA Fdxy= X

Def  Given 5 A=78 and o
nan tmp% Subset S { A the
castrickion oj 5 on S ) 5’5 , is algé;ngd%;
) Demain S
L) Gdo main B

3) qua_ . §$(x) -‘:‘5(>¢) :50(‘ Q.Pe X ins

2023-04-13 13:52:26 8/8 Lesson12 (8/8)




